MODEL U50-A (3X #8-80 DRIVE SCREWS)
MODEL U50-AT1 (3X #8-100 DRIVE SCREWS)
MODEL U50-A1-LC (3X #8-100 DRIVE SCREWS
WITH LASER CLEAN PARTS AND GREASE)

5/64 [2] HEX
FOR OPTICS LOCKING

20[5.1]—

2X C-BORE HOLES

.83[21.2]
NOM

FOR M4 OR #8 BHCS MOUNTING

3X 5/64 [2] HEX
DRIVE SCREWS

2X .50[12.7]

l

=——2X 1.00[25.4 ] —=

MODEL U50-S (2X #8-100 DRIVE SCREWS)

5/64 [2] HEX
FOR OPTICS LOCKING

83[21.2]
NOM

X!

—J

2X C-BORE HOLES

FOR M4 OR #8 BHCS MOUNTING

2X 5/64 [2] HEX
DRIVE SCREWS

17 &

2X .50[12.7]

!

=——2X 1.00[25.4]

— 20[5.1]

MODEL U50-AL (3X #8-80 DRIVE SCREWS WITH LOCKING)
MODEL U50-ALT (3X #8-100 DRIVE SCREWS WITH LOCKING)

5/64 [2] HEX
FOR OPTICS LOCKING

@l
83[21.2]

NOM ‘

, —J
L—.20[5.1]
2X C-BORE HOLES
FOR M4 OR #8 BHCS MOUNTING
3X 0.05 HEX
FOR LOCKING

3X 5/64 [2] HEX
DRIVE SCREWS —

2X .50[12.7]

Oe=9

=———2X 1.00[25.4]

Q> Newport’




